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BRI | lemax 15(at25°C) mA

BRI Pmax 150 mW

TARE Topr -40~125 °c

PRAFIREE Tstg -55~150 °c
& LR (1=25C) @

I H e e AT B | b | K |
LGN VH | V=1V B=100mT 24 28 33 mV

X2
AP Vo% | Vo=1VB=0mT -15 15 .
X1
EPANUEE Rin | FlmA 650 | 800 | 1000 | @
AUk Rout | I=1mA 1800 | 3000 | @
fnth FR ) B=100mT lc=5mA ]
WEREL o T1=25°C, T2=125°C 006 ) WC
i A\ J A FELREL R B=0mT Ic=0.1mA
WEREL B T1=25°C, T2=125°C 03 | we
LMERE y Ie=5m , B1=1KG, 9 .
B2=5KG

31 :Vo(%)=(Vo/VH) X 100 %2:VH=VHM-Vo

aVH=[1/VH(TD] x [VH(TD-VH(T2)] x [1/AT1-T2)] X100
BRin=[1/Rin(T1)] % [Rin(TD-Rin(T2)] x [1AT1-T2)] x100
Y = H2-KHD/[(KH1+KH2)/2] %100

KH1=VHB1D/Icx B1) ;

KH2=VH(B2)/(Ic x B2)
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GA201 A -5~+5 SEHUEIRE)
B -5~-10, +5~+10 Vol)=(Vo/VH) % 100
C -10~-15, +10~+15 Vo Ve=1V B=0mT
VH Ve=1V B=100mT
(at25°C)
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